
Division Roll No Superuisors Siqn Marks

Duration : t hrs Date: 61212025

Marks : 25

# ALL QUESTIONS ARE COMPULSORY

# ANSWERS TO BE WRITTEN IN THE QUESTION PAPER ONLY.

01]A) Do you agree or disagree'with the following statements (5 marks)

i) Whenever cheque has been deposited in the bank it is recorded on the receipt
side of the bank column in Cash Book.
Ans:

: .., ii) Head Cashier has been appointed for maintain Petty Cash Book of an
organisation.
Ans:

iii) One sided errors do affect the agreement of Trial Balance.
Ans:

iv) Depreciation increases the value of the asset.
Ans:

v) Cash Book has been divided into Income and Expenditure side.
Ans:

O1l B) Give one word /term or phrase for each of the following statements. {5
marks)

i) Method of depreciation under which asset value cannot reach to zero.
Ans:

ii) Name the account which encourages personal savings.
Ans:

iii) Taking the total more while closing books of accounts.
Ans:
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iv) An error of incorrect entries or wrong posting.
Ans:

v) Name the column in analytical petty cash book where all personal account entries
are posted.
Ans:

01p) Select the most appropriate alternative from those given below & complete the
sentence.
(5 marks)

i) Depreciation is a charge only on
a) Fixed
b) Non performing

ii) cheque issued is recorded in the cash Book on the payment side of
column.

a) Discount

b) Bank
these

iii) Cheque deposited returned dishonoured
credited in the Cash Book.

a) Customer's account

b) Bank account

iv) The Balance of depreciation account is transfer to
a) Depreciation account
b) Balance -Sheet

v) Rectification entries are passed in
a) Journal Proper
b) Cash Book

assets.
c) current

d) Fictitious

c) Cash

d) All of

account get

c) Cash account

d) none of these

c) Trading account
d) Profit &Loss account

c) Ledger
d) Balance -Sheet

Q2l Rectify the following errors which are located in the books of M/S Namita Traders.
(10 marks)

i) Goods purchased on credit from Jay Traders for Rs.10000 were not entered
in the Purchase Book.

ii) Carriage paid on purchase of Machinery Rs. 700 wrongly debited to Carriage
. ?ccount.
- iii) Wages paid Rs. 5000 were debited to Salary account.
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iv)
v)

Total of Purchase Book has been overcast by Rs.1g00.
Cash sales of Rs. 1500 recorded twice in the book.
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Q'1-A) complete the fotlowing statements by choosing the correct alternatives: (3 Marks)
l

1) The year of great divide

a) 1e11 b) 1921 c) 1931 d) 1s4t

2) Economic effects of unemployment

a) Waste of human resources

b) socialtension and unrest

c) Loss of human dignity

d) Helplessness

3) Family planning programme

al 1979 bi 2000 c) 1952 d) 200s

q-l-B) choose the correct option: (3 Marks)
L) correct reason for popuration exprosion in India\ ':,

a) il l iteracy b) age of marriage c) preference for male child d) social probtems

Option -

1) a,b 2) b,d 3) b,c,d 4l a,b,c

2) Concept related to unemployment

a) f nvoluntary dnemployment

b) Voluntary unemployment

c) Under employment

d) Ful l  employment

Option -

L) a,b,c 2) b,c,d 3) a,b 4l c,d

- 3) General measure to reciuce unemployment
a' ,1 

a) Development of Tourism

b) Reforms in the education system

c) Start-up lndia Init iative

d) Development of  infrastructure
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oftion -

1) a,b,c 2) b,c,d 3) a,b,d 4) a,b,c,d

e-1- C) Find the odd word
( 4 Marks )

1) Social effects of unemployment:

social tension, Loss of human dignity, High dependency ratio, Helpfessness
2) Fall in death rate because:

Increase in literacy, Fall in infant mortality rate, Medical and heatth facilit ies,
Joint family system

3) Industr iaf unemployment:

Frictiona I u nem ploymen t, cyclica I unemployment, structu ra I u nem ployment,
seasonaf unempfoyment

4) Stage of theory of demographic transition:

High fertility rate and high mortality rate

High birth rate and low death rate
t  a ;

Low birth rate and fow death rate

Economic devefopment

Q-2) ldentify and explain the concept from the given illustration (Any 2) (4 Marks)
1)The students of 'A' schoor were given free runch.
2) Suresh is physically and mentally fit for work, he is quafified to work, but not wif l ing

to work.

3) In country'8' there are 15 deaths taking place per 1000 during a year.
Q-3) Distinguish between (Any 2) (4 Marks)
L) Rural unemployment and urban unempioyment

2) Birth rate and Death rate

,.  
t)  Cycl ic unemployment and structural unemployment

'i, 
e-4) Answer in detail (Any 1), ._" . ,  _ ,  (7  Marks)
1) Explain the causes of unemployment.

2) Explain measure to check popurat ion exprosion in rndia.
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PROSE SE TION

a.1 (A) Readthe following extract and complete the activities given below: 10

To Jo's lively fancy, this fine house seemed a kind of enchanted palace, full of

splendors and delights which no one enjoyed. She had long wanted to behold these

hidden glories and to know the Laurence boy, who looked as if he would l ike to be

known, if he only knew how to begin. Since the party, she had been more eager than

ever, and had planned many ways of making friends with him, but he had not been

seen lately, and Jo began to think he had gone away, when she one day spied a brown

face at an upper window, looking wistfully down into their garden, where Beth and Amy

were snow-ball ing one another.

"That boy is suffering for society and fun," she said to herself. "His grandpa does

not know what's good for him, and keeps him shut up all alone. He needs a party of
jolly boys to play with, or somebody young and lively. I 've a great mind to go over and

tel l the old gent leman so!"

The idea amused Jo, who liked to do daring things and was always scandalizing

Meg by her queer performances. The plan of "going over" was not forgotten. And when

the snowy afternoon came, Jo resolved to try what could be done. She saw Mr.

Lawrence drive off, and then sall ied out to dig her way down to the hedge, where she

paused and took a survey. All quiet, curtains down at the lower windows, servants out

of sight, and nothing human visible but a'curly black head leaning on a thin hand atthe

upper window

"There he is," thought Jo, "Poor boy! All alone and sick this dismal day. lt 's a

shame! l ' l l toss up a snowball and make him look out, and then say a kind word to him."

Up went a handful of soft snow and the head turned at once, showing a face

which lost its l istless look in a minute, as the big eyes brightened and the mouth began

to smile. Jo nodded and laughed, and flourished her broom as she called out...

Questions:

A1. What alldid Jo fantasize about Mr. Lawrence's house? 2

42. According to Jo what was the Laurence boy suffering from and what does he need? 2

43. Write about an incident where a friend of yours 'cheered you up' or made you feel better/
accepted? 2

A4. Write the meanings of the following words from the extract:

a)wistful ly b)sa l l ied
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q.1(B) Do as directed:

a)Jo said, " l 've a great mind to go over and tel l  the old gentleman so!"

(Change and rewrite in indirect narration)

2. Jo began to think he had gone away.

(Rewrite the sentence in to simple future tense)

POETRY SECTTON

a.2 (A) Read the following and answer the questions accordingly:

There is another skY,
' Ever serene and fair,

And there is another sunshine,
Though it be darkness there;

Never mind faded forests, Austin,
Never mind si lent f ields-

Here is a little forest,
Whose leaf is ever green;

Here is a brighter garden,

Where not a frost has been;
' ln its unfading flowers
I hear the bright bee hum:

Prithee, mY brother,
Into my garden come!

Questions:

A1. What is the theme of the poem There is another sky'?

A2. Two poetic lines are given below, compose two.more poetic lines of your own and

complete it.

"There is another sky,

Ever serene and fair

A3. "l hearthe bright bee hum" (Name and explain the figure of speech)

A4. Fill in the blanks with appropriate answer-

"There is another sky' is a ----------- sonnet, having ----- lines.

2
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WRITING SKILLSECTION

Q3- lmagine, you have to conduct an interview of a famous social worker personality. With

the help of the table and points given below frame appropriate questions. (Do not change the

sequence ofthe questions.) 4

Name of the interviewee {social worker)-

Date/venue/time-

Duration of interview-

Questions-

1. Interest development in social work

2. Early education

3. ldols in life/motivation/inspiration

4. Support

5. Difficulties/obstacles

6. Recent achievements

7. Goals yet to be achieved in the field

8. A mbssage for the youth/ audience

DRAMA SECTION

4,.4 (A) Answer the following questions: 4

A1. Explain the following lines from the play 'A Midsummer- Night's Dream'.

"O, why rebuke you him that loves you so,

Lay breath so bitter on your bitter foe." 2

A2. Write a character sketch of 'Oberon'from the play'A Midsummer- Night's Dream'. 2a



MLDC Subject - French ll Unit test 25 marks

Q1. R6pondez les questions par des phrases compldtes: (2 au choix) Marks 4
1. Quels sont les sports populaires en France?

2. Quelles sont vos passions? ( 6crivez deux passions)

3. Nommez deux monuments modernes.

B. Choisissez la bonne r6ponse:

1.. La station de Louvre-Rivoli, elle porte le nom

a' un personnage b. un monument c6ldbre c. une 6v6nement historique.
2. Avec la carte Navigo, on peut

a',acheter les votements b. prendre les modes de transport c. enter dans un musee.

42. Grammaire (  g au choix)  marks g

1-' f i lm de Shah Rukh Khan est int6ressant. (Compl6tez avec tes adjectifs
d6monstratif. Ce, Cet, Cette, Ces)

2. Son -b6timent est marron. (Mettez au pluriel)

3' Avez/chapeaux/vous/des/noirs. {Retrouvez res phrase)

4. l ls vont - Tokyo Japon (compl6tez avec les prdpositions. en, au, aux)
5' Mes amis cricket {Compl€tez en uti l isant le verbe faire + de
variabres ou Joueq jouer + de (variabres), jouer + i {variabres))
6. Tu montes dans la train (Mettez au imp6ratif)

7 . l ls _(acheter) cette grande maison ( l/ettez le conjuguez d u verbe en pr6sent)
8 '  La glace est  -  (d6l ic ieuse/del ic ieux).  (Chois issez la bonne reponse)

9. Notre auto est (noir/rouge/blanc).

l, ' . i-0. Faites vos devoirs avant de jouer! (Mbttez au negatif)
'  L1. ce gargon d gauche est mon cousin. (mettez au feminin)

LZ. l l  va _ le dentiste (Completez avec: i/ chez)

marks 2.

L
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marks (7)Q3. Compr6hlnslon

Lisez le texte et r6pondez aux questions suivantes

En France, il y a plusieurs moyens de transport: le bus, le v6lo, l,avion, re moto, re
bateau, le m6tro etc. pour aller un peu plus loin, on peut choisir le train ou
l'avion' Et, si on habite au centre-vil le on peut facilement prendre le m6tro parce que
les rn6tros frangais sont trds commodes.

Les Frangais prdfdrent marcher i pied ou prendre le v6lo au lieu de prendre la
voiture. cet exercice physique est bon pour la sant6. on peut 6conomiser de
l'argent. En plus, le prix de l 'essence est trop cher. on peut aussi 6viter
l 'embouteil lage.

6viter (v) - to avoid commode (adj) convenient sant6 (f) _ health
embouteil lage - traffic jam au lieu de _ instead of

R6pondez les questions souvent:

1. Nommez quelques moyens de transport en France?

2. Pourquoi ies Frangais pr6farent-i ls marcher i pied ou prendre le v6lo?

2. Compl6tez avec un mot du texte:

a. Je ne peux pas venir i l ,heure i cause de l,

b. Je veux acheter un

c. Marcher i pied, c,est

3. Donnez le contraire (

a. prds

b. beaucoup _-

c. sans

bon pour la_

2 au choix)

)_



Q4. A. Traduisez en anglais: marks 2

En Inde, le cricket est une obsession nationale. On aime regarder ce sport ) la
t616. Moi, je joue au cricket chaque week-end. Le <Kabaddi> est un des sports
traditionnels populaires.

B. Traduisez en frangais {1 au choix} marks 2

1. Sometimes, one goes out with friends.

2. The concert starts at 6.00 pm, don't be late.

: t * f * * * * : t *

* " .

?"/-

3



FYJC: IJ'd UNIT TEST
DATE:

SUBJECT: GERMAN

DURATION: 60 MINUTES

MARKS:25

1. Beantworte zwei der folgenden Fragen. 4marks
a. wie vieie Zimer hat deine wohnung? wil rreint dein Lieblingszimmer?
b. Wann hast du Geburtstag? Wen lddst du zur party ein?
c. lVann hast du frei? Was machst du in deiner Freizeit?

2. Wie sagt man das auf Deutsch? (Any 2)
a. Tomorrow is a holiday.
b. Ram orders a hamburger and appte juice.
c. Children, where are your parents?

3. Ordne zu.
a. Welche Spraihen
b. Was essen
c. Nimmst
d. Tom und Teressa, welche Sprachen
e. Sara, liufst
f . Herr und Frau Weber, nehmen

4marks

6marks
Tee oder Kaffee?
sprecht ihr?
Sie bitte einen Kuchen.
du jeden Morgen?
sprichst du, MartinT
Sie am Abend?

4. Was passt? Schreibe den richtigen Satz. 6marks
a. Die Postkarte ist ftir/ohne mich.
b. Du bist so unfreundlich. Was hast du fir/gegenmich?
c. Das Auto f6hrt durch/gegen den gaum.
d. Rahul hat MigrSne. Sonia kauft Tabletten ftir ihn ftir/gegen seine Migrlne.
e. Um/Durch den park gibt es viele Hduser.
t. Der Zug ist nur bis/ohne Dadar.

5. Was passt? Streiche durch. Smarks
a. Laura wil l /wollen/woilt  heute Abend einen Firm sehen.
b' Morgen haben wir einen Test. Wir mtissen/muss/musst Deutsch lernen.
c. Kannst/Kann/Konnt ihrschwimmen?
d. Eva mochtet/mochte/mochten Musik lernen.
e. Michael und sonia woilen/wiil/woilt ein picknick machen.
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Q.l. Flll in the blanks:-

1 .
2.
3.
4.
5.

To specify width of textarea attribute.
A is a software used to view webpages.
Statements added in are ignore by JavaScript.
ln HTML, links are created by using _ tag.
An _ defines a property for an element consists of an value.

d. variable

Q.2. True or False:-

1. Alert$ is also called as message box.
2. Forms in html is used to accept input.
3. Variable name should contain blank spaces.
4. Internet Explorer is the example of website.
5. Prompt$ function is used when you want to display output.

Q.3. Multlple cholce questions (one answer):-

1. Scripts are used to generate _ webpages on the web.
a. static b. dynamic c. constant

2. event occurs when user releases key.
a. onKeyDown b. onKeyRelease c. onKeyUp d. onKeyPress

3. The -' attribute of <script> tag is used to set scripting language.
a. language b. program c. script d. value

4. is an example of webserver
a. HTTP b. HTML c. Google chrome

1. of form are GET or POST.
d. Apache

05M

05M

05M

a. action b. fonn c. method

Q.4. Wrlte a HTML code for the followlng:-

d. name

(.

Q.5. Write a program in JavaScript

Write a program in JavaScript to calculate area of rectangle

05M
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zy 'eqffi'frs;q Aa- UficgqqiaTT -ilEfrwgaTr.



.....etr$ffi+-Ar......ribffirafi.qrdrr.....qrqrFm'qrwr...... srFrarafi+qr{rfrqrum......
c{lclrlTFr6...'..qHrfro-€q$rra......EHo.HIgqg-ffi......qrtrtrSMqpI.....3d}ffiqil
Mi ffiq qrErq...... qFlunrqiqr qF{.

enr erffi affifr \1*' Ffr +sdr. (2 UUD
1)qnqERffiagxlc.wou

2) {n{dr vEH oT eTq rftil ofs[qr d gE s-{.

"g-fr ay" E+i5*n *fir. (2 Tt'I)

r ) .dsra d? qrdfr:i qr Ertrqnrqr sr{-
t i; -- --:r------------\ -e0 ffsraqmqrf,fr q R'sqErcfr e.t qqcqfr

zt gdo effiq orqgur shdtsT-

qsSfr&rrs{ffi

qce rslend.

qffrcr{qq6T{ur

srtrd{Mffi.

st1qrg{ E)rsE o^;shq

t . -
v
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Instructions :

1) use of logarithmic tables is allowed. Use of calculator is not allowed.
2l For LPP graph paper is not necessary. onry rough sketch of graph is

expected.

Q.l Al select and write the most appropriate answer from the given
alternatives for each question. (1 mark each) (7 M )

t) X=i 13 =
A) 2s0 B) 3s0 c) 4s0 D) sso

i i) lf f(x)=lx+a and f(t'1=7,then a =

A) 4 B)  s  c)6 D)7

iii) rirytg] =_

A) 2 Bl1 c)  3 D)4

iv) lf 3x-36 > 0, then x befongs to

A) (t2,m ) 8) (- a ,12) C) [12, oo ) D) (_ .o ,12]
v)The coefficient of correlation

A) has no l imit  B) can be ress than 1 c) can be more than 1
D) varies between -1 and 1

vi) Value of # is --

A) 84 B) 48 c) e6 D) 6s

vii) 6P3 =

A) 100 B) 120 C) 130 D) e0

B ) Attempt any TWO of the following questions . (2 mark each) (4M)

i" i) Find Zi=i (zr, - zr + 1)

i i t  t t f (x)  - { : ' *3_,  x<2
(5x*7,  x>2

then f ind a) f (3)  (b)  (2)



i i i) For the following data of marks of 7 students in physics(x) and
mathematics{y) draw scatter diagram and state the type of correlation.

Q.2 A) Attempt any TWo of the foilowing questions. (3 mark each) (f,rvry
i) Rajiv obtained 70 and 75 marks in first two-unit tests. Find the minimum
marks he should get in the third test to have an average of at least G0 marks.
ii) Find the number of 4-digit numbers that can be formed using the digits

1,,2,4,5,6,9 if

a) digits can be repeated

b) digits cannot be repeated

tii) lf f(x) = 3x + 5, g (x) = 6x - 1,

then find (a) (f+g) (x) (b) (f-e) (z) (c) ife) (3)

iv) Evaluate: Iim tg-l
x+5 [xr -3125J

B) Attempt any TWO of the following questions.

i) Find z;=i(re
- - - - - * r \
- l
r /

i i) Evaluate. 11p ['.-11
u-1 1sT-/

i i i) Given that r=0.4,oy =3,X (xt - X)(yi- I) = 108 , X (xi _ I)2=900
Find the number of pairs of observations.

iv) Find the graphical solut ion of the fol lowing system of f  inear inequations:
X Y

uo+,o  <L

Y V

,^+ ^  < L

x>0,Y>0

Draw the graph in the given answer paper.

(4 marks each) (8 M)
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D) v',- Rott No:- Dc&e,--_:(l-a.s.s'.'-
Ql Select the correct oPtions:

1. Astatutory corporation is answerable to

assembly whosoever creates it.

(Parliament, Public, Employment) 
""

t is Principal Financial lnstitution for Promotion, the

Micro. Small and Medium Enterprise (MSME) sector in India.

(0s)

or state

\

lao

(NABARD, KVIC, SIDBI)

3. MNCs are Powerful entities.

(Economical, Political Social)

4. SIDBI was established under the Small Industrial Development Bank of India Act,

(1988, 1992, 1996)

5. Government on the advice of

appoints auditor of government company'

(Comptroller andAuditor General of India, Auditor, Chartered accountant)

'.tt-:*\

.  
- , q

Q2 Match the colum4:

Group A

1. BHEL
2. KVIC
3. Private sector
4. NABARD
i. World bank

Solve here

GroupA

I. BHEL
2. KVIC
3. Private sector
4. NABARD
5. World bank

Group B

a) Profit motive
b) 1982

, c) 1944

, d) 19s7
e) 5l% paid up capital by government

D 49% paid up caPital bY government

g) Service motive
h) 1960
i) 198s

) 1950

Group B

(0s)

a)

b)

c)

d)

e)

\
s \
K



Q3. State whether the following statements are True or False: (0s)

1. SIDBI Las its head offrce at Mumbai

Z. The NABARD has been recognized as the apex institution for financing large scale

industries
3. Private sector organizations are owned by individuals or group of individual

4. Public sector was undertaken as a part of Industrial Policy 1956

5. The Minister in charge of ministry is the head of departmental organizations

Q4 Distinguish between: (10)

1) Private Sector Organisation and Public Sector Organisation (5 points)

2) Departmental Organisation and Statutory Corporation(5 points)

r.



' CLASS: FYJC DIV:_ ROLL NO._

SUBJECT: SP DAIE,: Supervisors signature:

Q.1 Select the Correct answer from the options given below and rewrite the
statements. (5 marks)

l.The person who presides over the meetilg is known as -.

a) Secretary b) Chairman c) Director

2.For passing special resolution majority is required.

a) 5I% b)66% c)7s%

3)Genera[ meeting must have a notice of at least clear days.

a)7 b)Zr c)r4

4)Written communication is a _ record.

a) Permanent . b) Temporary c) Unauthorised

5)A _ is the proposal put before the meeting for discussion and decision.

a) Motion b) Resolution c) Minutes

B) Match the pairs: (5marks)

l.Minutes
2.Annual General Meeting
3.TWiiter
4.Auditor
5.Proxy

l.Minutes a) Social media
2.Annual General Meeting b) Auditors report
3.TWiiter c) Representative of a directors
4.Auditor d) Record of meeting
5.Proxy e) Once in the year

O Formal motion
e) Votine
h) Once in six months
i) Blog
i) Personable

SOLVE I{ERE
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" C. State whether the following statement are True and False. (5 marks)

l.Amember has a nght to attend board meeting.

2.Chairman has right to conduct the meetittg. _

3.Arurual report is prepared by members.

4.A letter should have minimum folds.

5.Minutes are prepared before the meeting.

Q.2 Distinguish between the following.

l.Agenda and Minutes

2.Shareholders meeting and Board meeting

(10 marks)

(5points/5 Marks)

(5points/5marks)

I

v
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W
skdreiq

tr{Tr: ft+rm: - qrrlls-qrnq 1+1
q.1)sr)ffi, s{{ftc+dl (3 d:2)

erD eTEETf{CF:{iq-Ir*qqq|: rrd{n fu-dr ftc*ar

B#q: fr+mr: - rr{q (e}
q. 2 e0 r-qiqiqfrErBffigr: gr{: gffi'l

tflsry{r$}r& qtctrrsr: I rqrqA: frg: silTA ErdtE ErqrqqEg: I {l-€i i-ol6i q ER't d
ulfq qE veqcer g.l{a qTif{ sffi{Il t e vwi q{fr: sflr \r{rg il er{dq ssq a t{r
Srq er<dFfr | ts 6 ErgrT rrdT{ vqq .r6q sRiAf}R I cr-{ 6 q-{SE $s{ e{rs d{
{engh, tqrEr erTd{rqsTTrdT{s{qrsqat 6f,d{ darn erqrHr dEsdiean
8flul-{fql

eradtr+ql(3d:2)

1.{fErdrsrf{dt srqrwEur}argn: fr fr'qrga.1 ?
z.qrfli grRrecT vci sr €rsdi eR fura I
rmrvA: Pg: qiqqA qr-d&E Erqr€nglgrl

:.tsrffii T{qrqs qsrMui giud r gai tdn o{rwrirq I

(3 iT: 2) (2)

1) 'Bqtd €{aTr: fsqfq: .}r?fr{ | (tdr: qr,E{sre+i agrrdqmq*TiFridqqarl

zl qrnTr{6qrqr{ftrsar

1) Er{ :- ........................2) $dTq :-

r) rrgiqrd: T*dil-itfl*fr €rdq4 fr'$ ftrro q r
q. 2 ofr) vri+f sg'guat ( 2 cr: 1)

1. qqrRdE eftrd rrqRr{rR erg{r.{lff{l
2. dd: qr$t €6ri ESi ilwr{iqq-{r

(2)

(2)

(2)

:, $fl, gif$-E[,il[6R )

(s)



Tfrq: fr+rm: _ rrerq g)
d?tr q TdTFTTT{ dqd 6s.qrrn. I
Aar $r: ftMlTvdvspssq,1l1 ;;
ti+sffisqTdrqhqg:wrql

qmo*mEgq Efrqq-dq Eir{ tt 2 tl
s. 3 or) TqiqiqbdTnffeT: FH{: grsat
€rq-clqrqf(3d:z)

l)qoffiT ffircdt wil RrR: fr.Eqr: .qr*(,
2)Erqri grtrR{Rr vef il Gffici fusa r EE: rEzi o*a. e1+;-{E I
gl €dfifr.frqrqiq r-* qflftqfui go-ar RIR : ;rFr wil .f*tr{l

(3 d: 2)

. 1) q-etiqkr: qqT-{T?&irqcifu€rftttd_ qrtq{:_ ................... r. z) v{isrcr: RFeT*ruq fr-dT fldqd_ qsr{ x................. I3) qqiqrd.ffifrrgafrc*al_ prft, I
9.3 3{D qTqrrqrqrngcerzf frg|.-dr
rIqT qqrq ei€ wgqemlqu-qq;1

dqr crur gdrql s offisrqflqis qdcT tl
e{wn-
effiaffigFdl

1q: qqqrqqrRqis{ qr*qr( d?fidqr................q6.*d. ................onfftr1
qE{: fr+rm.- frg|-q$tqril{ 15y

s.4) qqiqi qBarRffET: ffi:guat( 7d: s) (s)
1. .....-....qrqqqruriTrgt6:l r€Bar,Tfl:,frFffiAz. rrcIqErq{i 6'rdi ......... .............. | ( Eq, 9166, qT-sqm
3. SRar: .................:...qrRrr ftg: , *rdr: , e€r)
4. .. errgf,dgqcda: r{ qgf4, 3f?fdt{,,*r}(:)
s. vefE $Fil9......*......... -. €R"T dgqqr l r x#,srqaE, €{rr_daQ6. g{r orR rq rrdfr il{ ... .... ... ...-...... ;de{ irrn qrrgT
z.Qfrqrm{tril......... ... aRiwqr (-g6rrtqi, or{Hi, r{ErdERq)

===================================:=== j=================:===== 

== ===

(2)

(?)

(3)


